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Q.1 The dielectric strength of the transformer oil should be
Ans x 1. 5KV

Question ID : 6044815224

K2 132kV
X3 100V
v 4 30k

Q.2 The critical temperature at which high ferromagnetic materials lose their magnetism is called :

Ans 1 Curie point

Question ID : 6044815246

X 2 Hysteresis
< 3 Transition temperature
X 4 Standard temperature

Q3 The rating of a battery is expressed in

Question ID : 6044815199

Ans - ampere-hours
#< 2 watt-hours
< 3. amperes
< 4 watts

Q.4 During capacitor charging, the voltage actually rises to per cent of its value.

Ans 3¢ 1. 3.2, initial

Question ID : 6044815278

W 2 63.2, final
< 3 37, initial
X 4 37 final

Q.5 The ampere-hour efficiency of lead-acid batteries is usually between

Ans o 1. 90 - 95%

Question ID : 6044815189

X 2. 55-60%
X3 0-20%
X 4 30-35%

Q.6 The absolute permittivity of free space is given by i

Question ID : 6044815268

Ans %1 8.854% 10711 F/m




X 2 8.854% 107°° F/m
v % 8.854x% 1072 F/m
X % 8.854% 1071° F/m

Q'7 The delta in a three-phase system is formed by connecting and the connactions are continuad to form
a closed loop.

Ans ,,1.

one end of the winding to the starting end of other winding

x 2

one end of an inductor to the starting end of the resistor
#< 3 one end of the resistor to the inductor

< 4

one end of an inductor to the neutral end of the resistor

Question ID : 6044815188

Q.8 The characteristics of the material that allows it to be pulled out into a wire is called as

Ans ¢ 1. solderability
2 2 malleability
W 3 ductility

X 4 superconductivity

Question ID : 6044815237

Q.9 An alternating voltage of 50 Hz frequency and 100 A maximum value is given by 4

Ans 1.y = 200 sin 628t
v 2 v = 100sin 314t

X3 v = 100V2 sin157t
X * v = 10042 sin 314t

Question ID : 6044815299

Q.10 The potential difference between any two lines of supply in a three-phase system is called
Ans 3¢ 1. phase current

« 7 line voltage

& 3 line current

X 4 phase voltage

Question ID : 6044815190

Q 1 1 A capacitor conslsts of two similar plates sach measuring 10cm = 10 cm mounted parallel and opposite to each other. The
* value of capacitance when the distance between themn is L emn and dielectric used in air will be

Ans 1. 2854 F
W 2 8.854 pF

X 3 8.854 uF
X 4 8.854mF

Question ID : 6044815291

Q 1 2 A balanced theee-phase star-connectad load draws power from a 440 W supply, The two connected wattmerers, W1 and W2,
‘ indicate 5 KW and 1200 W, Calculate the total power,

Ans x 1. 5 KW
X 2 6,200 kW

X3 62kW
v 4 6200 W

Question ID : 6044815251

Q.13 Three identical impedances, cach of (9.8 + j10) €2, are conneeted to a 400 V, 50 He, AC power
supply. The power supplied to the load is measured by the two-wartmeter method. If the
impedances are connected in a delta, find the readings of the two wattmeters.

Ans X 1. W1 =-44KkW and W2 =1 kW

Question ID : 6044815210




X2 Wl=1kWand W2 =44KkW
V3 W1=19kWand W2=49KkW
X4 W1=636KkWand W2 =1.64KkW

Q_14 A 3-phase 10 kV" A load has a power factor of 0.342. The power is ] by the tw: method.

Find the reading of each wattmeter when the power factor is leading.

Ans o 1. W1 =-1kWand W2 =4.4kW
X 2 W1=-44kWand W2=1kW
X 3 W1=1kWand W2=44kW
X4 W1=44kWand W2 =1kW

Question ID : 6044815207

Q15 Which of the following statements is FALSE?

Ans ,,1.

A single-phase system has many advantages over a three-phase system.

x 2

The supply frequency of a single-phase AC system in India is 50 Hz.

x 3.

To develop a polyphase system, the armature winding in a zenerator iz divided into the required number of phases.

< 4

A three-phase system is found to be more economical.

Question ID : 6044815183

Q.16 Which of the following compounds is widely used in the manufacture of ferrites?
Ans “ 1. Fez 03

X 2. Ccuo

X 3 FeO

X 4 MgO

Question ID : 6044815250

Q.17 The term ‘L’ is called the inductive reactance and is given by:

Ans . 1. 1
X @)
X2 2nfc
V3 2mfl

. 4. 1
X (2nfc)

Question ID : 6044815309

Q 1 8 The two-wattmeter method is used to measure the total power 1o a balanced creult powerad by a 415 V. 50 Hz, thres-phase,
° balanced power supply. If one wattmeter reads 4.5 kW and the other reads zero, the fotal power calculated will be

Ans of 1. 4 5kW

Question ID : 6044815264

X2 0w
K3 45kW
X 4 9kwW

Q_‘l O Find the input power when a 7.46 kW, three-phase induction motor having 83% efficiency is connected to a 400V,
S0Hz AC supply.

Ans X' 1. 746 KW

Question ID : 6044815219

X 2 746 kKW
X3 68TKW
v 4 878 kKW

Q.20 What happens when the paramagnetic material is heated above the Curie temperature?

Question ID : 6044815249




Ans 3¢ 1. Tt becomes anti-ferromagnetic.
X 2 It becomes diamagnetic.
3 It becomes ferromagnetic.

« % Tt becomes non-magnetic.

Q.21 What capacitance must be placed in seties with a 15-UF capacitor to obtain a total capacitance of § UF?
Ans ?{'l 25 uF

W2 75uF

X 3 10 uF

?<'4 4 uF

Question ID : 6044815293

Q22 R foegd 99K & HWAE F AT H e oA B
M o S g

X" Tege e e

v faega d

X faega =ity @

Question ID : 6044815271

Q 3 Two capacitors of 2 uF and 4 uF are connected in parallel across a 100-V DC supply. The energy stored in the capaciiors
° will respectively be

Ans  of' 1. 0.01 Tand 0.02 7
X2 01Jand0.27
#< 3 0.001 Tand 0.002 J
X41Tand27

Question ID : 6044815294

Q '24 Thaee identical impedances, each of (9.8+110) 2. are conmected across a 400 V. 50 Hz AC supply. The power supplied 1o
the load is measured by the two-wartmeter method.

Find the readings of the two w; if the imped are d i star,

Ans  of 1. W1 =636 kW and W2 = 1.64 kW
X 2 W1=-44KkWand W2 =1kW
X 3 W1=-636KkWand W2 =164 kW
X4 W1=1kWandW2=44kW

Question ID : 6044815209

Q25 ‘What will be the total capacitance of 10 eapacitors of equal capacitance C connected in parallel?

1. £
- S et
10

xX2zcC
x3.£

10
v 4 10C

Ans

Question ID : 6044815276

Q.26 7T urgst or Wt F1 SRR e e & ST o feufEat F e ar ST g

Ans ! frETeTRaT (Superconductivity)
X % art-=wersar (semiconductivity)
X T g

Question ID : 6044815229




x* Tahrg faFa0T (magnetostriction)

Q27 The active material of a nickel-iron battery is
Ans ¢ 1. 219 solution of H,S0,
# 2 Powdered NaCl and its oxide

#< 3- 989 solution of KCI
« * nickel hydroxide

Question ID : 6044815186

Q.28 An alternating current is given by i = 10 sin 314t A. Its RMS value willbe
Ans X' 1. 0.707 A

V2 707A

X3 5A

X410A

Question ID : 6044815304

Q.29 In ferroelectric materials, the hysteresis loopisthe _____ function of the applied electric field.
Ans 1. parabolic

+ 2 non-linear

3 exponential

X 4 linear

Question ID : 6044815265

Q .3(Q e plate area af a parallel-plate capacitor is (.01 m? _ The distance hetween the plates is 2 8 em_ 1 the imsulating madinm
b5 gir. 13 capacitance will be '

Ans X1 354x10712
X 2 354x10™12
v 354x10712
X 4 354x10710

Question ID : 6044815295

Q.31 The relation VL= @Vph in a three-phase system is applicable to a .
Ans 5 1. six-phase system too
# 2 delta-connected load

X 8 star-connected load without a neutral point

' * star-connected load

Question ID : 6044815193

Q.32 Find the line curent if a three-phase star 1 system is 1 to a 400 V. 50 Hz AC supply. Assume
Ty — (B.5410)2

Ans X 1. 2857 A
v 2 165A
X3 10A
X4 1144 A

Question ID : 6044815215

0.33 What will be the total power consumed when three coils, each having a resistance of 10 ohms and an
impedance of 0.02 H. are connected in star across a 440-V, 50-Hz, three-phase supply?

Ans o' 1. 13.88 kW
X2 25kW
X3 21.51kwW
X4 10kW

Question ID : 6044815321

Q 34 The wattmerter measures the angle between the current phasor detected by the and the voltage phasor detected by
: the ;

Ans

Question ID : 6044815269




X 1 ammeter, voltmeter
X 2 voltmeter, ammeter
3 voltage coil, current coil

' % current coil, voltage coil

Q _35 ‘Which of the following is 2 magnetic material in which a permanent atomic magnetic dipole has a parallel orfentation?

Ans ¢ 1. Ferromagnetic

X 2 Diamagnetic
X 3 Paramagnetic
X * Ferrimagnetic

Question ID : 6044815248

Q,36 Three identical coils, each with a 10-ohm resistor and a 0.03-H inductor, are connected in delta across a
440-V, 50-Hz, three-phase power supply, What will be the total power consumed?

Ans ?(" 1. 10 KW
X 2 2011 kW
V'3 2542kW
X4 5041 kW

Question ID : 6044815314

Q .37 Find the phase voltage if a three-phase star-connected system 15 connected to a 400 V, 50 Hz AC supply. Assume
Zon = (9841010

Ans 111024V
v 2 23094V
X3 400V
X 4230V

Question ID : 6044815213

Q.38 The insulating materials used for a capacitor are
Ans 3¢ 1. paper. mica and rubber

+ 7 mica, mineral oil and ceramic
X 8 ceramic, silica glass and wood

X 4 rubber, ceramic and mica

Question ID : 6044815263

Q.39 Which one of the following materials is used for making permanent magnets?

Ans 1. Steel
& 2 Ccarbon
v 3 Carbon-steel
X 4 Graphite

Question ID : 6044815254

Q.40 is an example of a high-resistivity material.

Ans x 1. Copper
X 2 Gold

& 3 silver
' % Nichrome

Question ID : 6044815239

Q .41 A 20-mF capacitor is in series with a 150-ohm resistor. The combination is placed across a 40-V DC source. The time
constant of the circuit is ;

Ans ?(1. 8s

Question ID : 6044815286

X224
X3 6s




v 3s

Q.42 The wattmeter method is used to measure the power in a three-phase load. The wattmeter readings are
400 W and —35 W. What will be the total active power?

Ans X‘I. 360 W
X2 370W
X3 375w
v o365W

Question ID : 6044815318

Q.43 Find the node voltage at node 1 in the following circuit.

1 3ohm . 1ohm

A Ay

@ - §1Dohm gﬁohm — 10v

Ans X' 1. 237V
X2 437V
V3 337V
X4 537V

Question ID : 6044815326

Q.44 Which of the following leads to a low voltage and a low power factor?
Ans ¢ 1. Active power
X 2 Resistor

+' 3 Harmonics

< 4 Balanced load

Question ID : 6044815310

Q,45 Three coils, each having a resistance of 10 ohms and an impedance of 0,02 H, areconnected in star
across a 440-V, 50-Hz, three-phase power supply. What will be the phase voltage?

Ans & 1. 250.343 V
W2 25403V
X3 230V
K40V

Question ID : 6044815323

Q.46 The total capacitance of 10 capacitors, each of 5 uF, in series, will be
Ans x 1.2 }.LF

x 2. 10 uF

3 0.5uF

x 4. 5 j.LF

Question ID : 6044815283

Q47 1 a three-phase system, the relation I, =31, is applicable to a:
Ans 5 1. single-phase system too

' 2 delta-connected load

X 8- star-connected load without neutral point

& * star-connected load

Question ID : 6044815195

Q.48 Hard magnetic materials are used for manufacturing .
Ans o 1. temporary magnets

Question ID : 6044815244




+ 2 permanent magnets

X 3 conductors
< 4 insulator

Ans X 1. 375V
X222V
V318V
X4 5V

Q.49 A lead-acid battery should NOT be discharged beyond .

Question ID : 6044815201

Q.50 The time constant value in an R-L circuit is given by:
Ans K1 ovit
X 2 RC
X% iR
4. 1,
« )

R

Question ID : 6044815312

Q.51 The output voltage, when five cells of 2 V each are connected in parallel, will be
Ans X' 1. g4V

K21V

K325y

V4w

Question ID : 6044815198

Q.52 For balanced lagging power factor, according to two wattmeter method.
W1 =V I cos(30 — @

W2 = VI cos(30 + @)
The total reactive volt-amperes Q is given by

Ans x‘l. Q=0
X% Q = V3V, sin®
x3. Q: il

(4' Q = VLILSinﬂ)

Question ID : 6044815202

Q 53 The two-wattmeter method is used to measure the pawer of athree-phase balanced system, powered by a 415 V. three-
phese, and 50 Hz power supply. If the reading on both wattmeters is 8.5 kKW, calculate the line current,

Ans o 1. 2365 A
X2 2365V
X3 2365V
X4 2365A

Question ID : 6044815236

O erdrmor F R gwE ¥
Ans xl Hm?2
X rEam
3.
v
m
X % Cm?

Question ID : 6044815262

Q.55 Which of the following conditions is unlikely to occur in a voltage surge?
Ans

< 1- Damage to insulation

Question ID : 6044815311




< 2 Damage to electronic components
3 Tripping of sensitive equipment

« % Flicker in incandescent lamps

Q.56 The frequency of the DC system in India is .
Ans x 1. 60 Hz

X 2 50 Hz

V'3 0Hz

X 4 110 Hz

Question ID :6044815307

Q.57 The capacitance of a parallel-plate capacitor is given by
A 1. _
ns X' C=¢e.d/A

X2 C=¢gdfA
X3 C=¢AfM
v C= ¢ A/d

Question ID : 6044815270

Q.58 What is the expression for current in the R-C circuit?
L v —t
v ii=QepE)
2. v —t
X7i=O—exp)

R

Ans

t

Xi=O-en(D)
4.
x

i=()-epC)

Question ID : 6044815315

Q59 For a star-connected three-phase AC circnit, the:
Ans 1.

line current is equal to three times the phase current
« 7 phase current is equal to the line current
x 3 phase current is three times the line current

X * line current is equal to the phase voltage

Question ID : 6044815206

Q . The two-wattmeter method is used for the measurement of the toial power in a balanced clrcudt. Current Is supplied from a
415V, 50 Hz, three-phase, balanced supply. Calculate the total power if both the readings are 4.5 K'W each.

Ans X1 9.5 kW
< 2 900 kW
v 3 okwW
X 4 900 W

Question ID : 6044815256

Q.61 A balanced three-pl i i load draws power from a 440V supply. The two connected
wattmeters. Wl and W2, indicate 5 k'W and 1.200 W respectively. Caleulate the current in the circuit.

Ans 1. 11.86 A
X2 1556A
X3111A
X 41011 A

Question ID : 6044815253

Q.62

Question ID : 6044815225




The two-wattmeter method is used to measure the input power of a three-phase induction
motor. If the two wattmeter readings are 1,700 W and 1,100 W, determine the input current
drawn from a 440 V, 3-phase AC supply.

Ans X 1. 0.54 A
X2 032A
V3 04A
X4 0525A

0_63 A three-phase, bal i, delts i load of (4 + j8) 22 is connected to a 400-V, 3-@ balanced power
supply. Assuming that thephase sequence is RYB, determine the phasze current Tp.

Ans X 1. 4574/-63.4° A
' 2 44.742-63.4° A
X3 44.74263.4° A
X 4 4574263.4° A

Question ID : 6044815325

Q.64 A standard sinusoidal current wave changes its polarityat
Ans 5 1. negative value

' 2 zero value

< 3 minimum value

X 4 maximum value

Question ID : 6044815297

Q,65 If Q is the charge and C be the capacitance, then the energy stored in the capacitor is given by

Ans 1. Q

~

2c
1
< Eth:
3. A2
v 2

2C
4, 4

Qc

Question ID : 6044815277

Q.66 The two-wattmeter method is used to measure a three-phase power supply. If the two wattmeter
readings are 2 kW and 500 W. determine the total power of the eireuit.

Ans x‘l. 25 kW
X2 250W
3 25kW
X4 25w

Question ID : 6044815243

Q.67 According to Gauss's law, if Eis . the charge density in the ideal conductor is zero.
Ans ¢ T positive

X 2 negative

W 3. zero

x4. llﬂ.lty

Question ID : 6044815241

Q.68 What is the relationship between the line voltage and the phase voltage in a delta-connected load?

Ans 5 1. Line voltage = Phase current
X 2 Line voltage > Phase voltage
3 Line voltage < Phase voltage
« % Line voltage = Phase voltage

Question ID : 6044815324




Q 69 A 10-UF capacitor in series with a 1-ME resistor is connectad across a 100-v DC supply. The initial rate of rize of voltage
across the capacitor is

Question ID : 6044815296

Ans o T 10 Vs
X 2 0.01V/s
X3 1Vl
X4 01Vis

Q _70 Find the phase voltage if a thres-phase star- d swstem is dtoa 400V, 50 Hz AC supply. Assumme Zo,
consists of a resistance of 10 £ in series with an inductance of D.0318 H.

Ans X 1. 400V

Question ID : 6044815211

v 2 23004V
X3 230V
X 411024V

Q 71 A three-phase star-connected balanced load of (4-13) &2 per phase is coniected across three-phiase. S0 Ha, 400 V AC supply.
If the rwo-wattmeter method is used to determine input power, find each wattmeter reading.

Ans  of1. 1834 KW and 7.26 KW

Question ID : 6044815218

X 21834 KW and 46 kKW
X 3 23 kW and 23 kW
X 4 2560 kW and 23.23 kW

Q .72 Three capacitors of 3 uF, 6 uF and 12 yF are connected in paralle] across an AC source. The maxinmum current will pass
through the :

Question ID : 6044815287

Ans o - 12-UF capacitor
2 2 all the capacitors
X 3 3-uF capacitor
X 4 6-uF capacitor

Q.73 Inathree-phase system, the current passing through any two lines of supply is called

Question ID : 6044815191

Ans 5 1 line voltage
2 2 phase current
< 3 phase voltage

' * line current

Q.74 The balanced load of a delta connection is powered by a three-phase balanced 400 V, 50 Hz AC
power supply. The readings of the two powermeters are 970 W and 480 W respectively. Each
phase load consists of a series of resistors and inductors. Caleulate the power factor.

Question ID : 6044815227

Ans X 1.1

v % 0.86 lag
X3 0.65 lag
X % 0.98 lag

.75 The balanced load of a delta-connection is powered a three-phaze balanced 400 V, 50 Hz AC
P P

power supply. The readings of the two powermeters are 970 W and 480 W, respectively. Each

phase of load consists of a series of resistors and inductors. Caleulate the line current.

Question ID : 6044815233

Ans X114 A
v224A
X3 2424
XA 14A

Q.76 The power in a three-phase circuit is given by the equation;
Ans 1 P =3 VPhIPh Cos®

Question ID : 6044815204

X 2. p=3 VLIL Cos®




X% P=+3 VphIL Cos®@
X * P=+/3 VL Iph Cos®

Q.77 Consider a three-phase system and match the following:

A Active power | D.+/3 VI,

B. Reactive power | E. /3 V,I; sin®

C. Apparent power | F_+/3 VI, cos®

Ans 1. A-F,B-D.C-E
v 2 A-F.B-E.C-D
X 3 A-E. B-F,C-D
X 4 A-D,B-F.C-E

Question ID : 6044815197

Q.78 When a 4-V EMF is applied across a 1-F capacitor. it will store of energy.

Ans x‘l. 27
X247
X3 67J
V48]l

Question ID : 6044815289

A bal 1 three-pl star-¢ i load draws power from a 440 V su . The two connected
. P P pp
wattmeters, W1 and W2, indicate 5 kW and 1.200 W respectively. Calculate the power factor of
the system.

Ans x‘l. 0.54
< 2 pog
W 3 0.69
X 4075

Question ID : 6044815252

Q80 The unit of capacitance is
Ans x 1. Henry

v 2 Coulomb/Volt

& 3 Volts/Coulomb

X % Ohms

Question ID : 6044815267

Q.81 Afier  number of time constants, the transient portion reaches more than 99% of its final value,
Ans X‘I. 3

i 2.

X3

x40

Question ID : 6044815313

Q.82 The two-wattmeter method is used to measure the total power in a balanced cireuit powered by a 415 V,
50 Hz, three-phase, balanced power supply. If both readings are 4.5 KW but have opposite signs, the
total power caleulated will be :

Ans X105 kW
v2ow
X3 050 W
X 4 9okw

Question ID : 6044815260

83 SrwRT I $r T 2 =T

Question ID : 6044815261




Ans

x " g 3t
X % uferm
v B (low)
X 4 AegR

Q-84 Find the odd one from the following.
Ans  of 1. Brass

X 2 Manganin

# 3- Constantan

& % Nichrome

Question ID : 6044815230

Q .85 A delta-connected balanced lead is supplied from a three-phase balanced 400V, 50 Hz AC supply. The readings on the fwo
wattmeters are 70 W and 480 W respectively. Each phase of Joad consists of resistance and inductance connected in series.
Calculate the total active powsr consumed

Ans 1. 145 kKW
X 2 1450 kW
V'3 145kW
X4 145 kW

Question ID :6044815226

Q.86 The line voltage Vgy in a three-phase system is equal to:
Ans 1 the algebraic sum of Vgy and Viy
X 2 the phasor sum of Vgy and Vyy
7 3 the phasor difference between Vi and Viy
v * the phasor sum of Vgy and Viyy

Question ID : 6044815320

Q.87 The phase sequence is important in determining the direction of rotation of the
Ans X' 1. DC series motor

# 2. BLDC motor

X 3 DC shunt motor

+ 4 AC motor

Question ID : 6044815184

Q.88 n an R-C circuit, when the switch § is closed, the response .
Ans of - decays with time

X 2 rises with time

2 3 do not vary with time

X % first increases and then decreases

Question ID : 6044815316

Q89 1 ead. in case of lead-acid cell. is known as
Ans 5 1. negative passive material

' 7 negative active material

X 3 positive passive material

~< 4. positive active material

Question ID : 6044815200

Q.90 A capacitor stores 0.4 C of charge at 2 V. Its capacitance is
Ans x 1. 32F

Question ID : 6044815285




X2 08F
X3 04F
v 4 02F

091 A capacitor charged to 200 V has 2000 uC of charge. The value of capacitance will be .

Ans ?(1. 100 F
X 2100 uF
v 3 10 pF
X4 10F

Question ID : 6044815288

Q.92 A voltage is said to be alternating when it changes in
Ans 5 1. neither magnitude nor direction
X 2 magnitude only

X 3 direction only

« % both magnitude and direction

Question ID : 6044815298

Q.93 Thaee identical coils each having a resistance of 10 ohms and an ind of 0,03 H are d in delia across a 440-V,
S0-Hz. three-phase supply. What will be the power factor?

Ans #1- 0.72 Lagging
X220
X3
X % 0.75 Leading

Question ID: 6044815305

Q _94 A 10-uF capaciior in series with a 1-M82 resisior is connecied across a L00-\' DC supply. The time constant of (s circuit

Ans x‘l 0.1s
X 2 10m/s
V3 10s
X 4100

Question ID : 6044815290

Q95 Find the odd one from the following.
Ans X1 Hardness

X % Ductility

W ° Resistivity

X 4 Tensile strength

Question ID : 6044815231

Q.96 A capacitor consists of two conducting surfaces separated by a/an

Ans 1. semiconductor

X 2 alloy
X 3 metal
' * insulator

Question ID : 6044815266

Q.97 Which of the following properties must be used for the fuse material used in the wire?
Ans

' ' Low melting point
X % Low conductivity
X 3 High melting point
2 % High resistivity

Question ID : 6044815242




00004 pF. If 8 voltage of 20000 V is applied across i, menmemmlchmgeonmepMeswﬂlbe

Ans X'I. 8 mC
x<28cC
X 3 8nC
“4. g uc

Q 98 The capacitance of a capacitor formed by two parallel plstes, each 200 cm? in srea, byad thick dialectric i

Question ID : 6044815292

Ans 5 1. RMS voltage
X 2 peak-to-peak voltage
« 2 aphase sequence
X % power factor

Q.99 1nathree-phase system. the order in which the voltages artain their maximum positive value is called

Question ID : 6044815182

Ans 1.

L T =~ == e =~

“f4u

A

Q'JO The time constant value in an R-C circuit is given by:

Question ID : 6044815317

Q-11 0 The heating element of an electric iron is composed of

Ans 5 1. aluminium
X 2. copper
« 3 nichrome

/< 4 constantan

Question ID : 6044815238

Q .10 A three-phase 10 k3" A load has a power factor of 0,342, The power is measured by fhe two-wattmeter method,

2 Find the reading of each wattmeter when the power factor is lagging.

Ans 1 W1 =1KkW and W2 =44 kW
X 2 W1=-1kWand W2 =-4.4 kW
W3 W1=44kWandW2=-1kW
K4 Wl=-44kWand W2=1kW

Question ID : 6044815208

Q 0 The two-wattmeter method is used to measure a three=phase power supply. If the two wattmeter readings are 2 k€W and
500 W, determine the power factor of the circuit,

Ans X'I. 0.9
X 2085
X308
v 407

Question ID : 6044815245

Q.10 Insulating materials should have dielectric strength and dielectric loss.
4

Ans X 1. hlgh,hlgh.
X 2 low; low

« 2 high; low

Question ID : 6044815221




X % low: high

5

Ans ?{'L

greater than the capacitance of the largest capacitor

?{'Z

The average of the capacitances of all the capacitors

< 3

greater than the capacitance of any individual capacitor

‘f4.

smaller than the capacitance of the smallest capacitor

Q .10 Ifanumber of capacitors are connected in series, then the total capacitance of the combination will be

Question ID : 6044815281

Q . 1 o The two-wattmeter method is used to measure a three=phase power supply. If the two wattmeter readings are 2 kW and
300 W, determine the input current drawn from a 440V, three-phase AC supply if the load is delta connected,

Ans i'l. 52 A
X2 258A
X3 258 A
X4 2605A

Question ID : 6044815247

Q . 1 0 Find the phase current if a three-phase star-connected system is commeeted 1o a 400 V. 50 Hz AC supply. Assume 7,
consists of a resistance of 10 £2 in series with inductance of 0.0318 H.

Ans X' 1. 230A
X2 40A
X3 2323A
v 41633 A

Question ID : 6044815212

ng Plastics are:

Ans % 1 go0d conductors of electricity
X % high-density materials
« ° bad conductors of electricity

X % good conductors of heat

Question ID : 6044815258

Q.'I 0 During the discharge of a lead-acid battery, the terminal voltage drops as there is a drop in

9

Ans o1 electrolyte

X 2 electrode size
X 3 temperature

o % discharge rate

Question ID : 6044815187

Q.11 In a three-phase system, the relation I, = Iy is applicable to a
0

Question ID : 6044815194

Ans 3 1. delta-connected load
X % star-connected load without neutral point

X 3 single-phase system too
' * star-connected load

Q.11

Question ID : 6044815328




Determine the current flowing through the 5-€2 resistor in the following circuit.

oA Tohm 3ohm Sohm

Ans X' 1.10.523 A
X2 5A
V3 1479 A
X4 39A

0'2" Mica is a:

Question ID : 6044815257

Ans 1 insulating and dielectric material

X 2 dielectric material but not insulator

X 3 insulating material but not dielectric

X % magnetic material

Q .1 1 An alternating voltage is given by the expression v = 200 sin (314t + /3] A. The maximum value and frequency of the
3 voltage are respectively

Question ID : 6044815300

Ans 1. 200 A and 25 Hz
X 2 200 A and 100 Hz
v 3 200 A and 50 Hz

> % 100v2 A and 50 Hz

Q .11 A material having a property of becoming polarised in respanse to an applied mechanical stress is called )

4

Question ID : 6044815220

Ans 1. ferrolectric

X % superconducting
W ° piezoelectric

x4 optoelectronic

0'511 Which material is used for overhead tram lines?

Question ID : 6044815232

Ans  f# 1 Copper alloys
X 2 Nickel
< 3 Bronze
Z 4 Aluminium

Q.11 Which one of the following must be ensured when two batteries are connected in parallel?

6

Question ID : 6044815203

Ans 5 1. They should have the same make.
' 7 They should have the same emf.

?{'&
They should have the same internal resistance.

X 4
They should have the same ampere-hour capacity.

Q.11 (




7 Permittivity is expressed in
Ans x 1. Farad

X 2 Farad/mm
+ 3 Farad/m

X * Farad/ mm?

Question ID : 6044815272

.11 The two-wattmeter method is used to measure the input power of a three-phase induction
put p P
8 motor. If the two wattmeter readings are |,700 W and 1,100 W, determine the power factor of
the motor.

Ans 1 0.0375 lagging
X 2 Unity
% 2 0.85 lagging
X % 0.9784 lagging

Question ID : 6044815223

Q.11 For a delta-connected load being measured for power by the two-wattmeter method, if
9 Iy willlead V,, by angle @ then it is the case of :

Ans X1 Short circuit
« 7 Leading power factor
X 8. Lagging power factor
X % Open circuit

Question ID : 6044815181

Q,'I 2 In a single-phase AC system, two wires are sufficient for rransmitting voltage to the load. These are:

0
Ans 51 red and yellow

4 2 phase and neutral
# 3 red and blue

> 4. positive wire and negative wire

Question ID : 6044815185

Q.1 2 Analternating current is given by i =20 sin 157t A. The frequency of the aliernating current is

1

Ans x1. 100 Hz
X 2 75Hz
3 25Hz
X 4 50Hz

Question ID : 6044815301

Q1 2 The two-wattmeter method is used to measure the power of a three-phase balanced system,
2 powered by a 415 V, three-phase, 50 Hz power supply. If the reading on both wattmeters is
8.5 kW, calculate the power factor.

Ans o f1 4
X % 0.98 lagging
X 2 0.88 lagging
X % 0.858 lagging

Question ID : 6044815235

Q.12 zenfrs & =S & 2w, am ava= & SO HEE SRR T E _ 9Re A% AR d
3
Ans x’l. 73

X2 42

X3 63

v+ 37

Question ID : 6044815279




Q.12 The RMS value of a sine wave having peak value Vm over one cycle is
4

Ans ?(‘I. Vm
2. Vm

-

3. Vm

v —

X 4 Zero

Question ID : 6044815302

Q.12 A three-phase star-connected balanced lond of (4+3) 2 per phase is connected across a three-phase, S0 Hz, 400 V AC
supply. Determine the power Bactor of the load.

Ans 1 0.8 lagging
X % 0.3 leading
X 3 0.9 lagging
X % 0.7 leading

Question ID : 6044815216

Q.12 1n a three-phase system, the relation V;, = V., is applicableto a
b2
6

Ans o 1. star-connected load
W 2 delta-connected load
X 3 star-connected without neutral point

x4 single-phase system also

Question ID : 6044815196

Q-712 The dielectric strength of a material depends on its

Ans o 1 ductility
* 2 density
X 3 volume
+ % moisture content

Question ID : 6044815275

Q,'I 2 Two capacitors of capacitances Cs — 0.1 uF and C, — 0.2 uF are condected in series across a 300-V source, The voltage
8 across C; will be

Ans x1. 150 WV
X 2300V
X310V
v 4 200V

Question ID : 6044815284

Q .1 2 Find the phase current if a three-phase star-connected system is cormected to a 400V, 30 Hz AC supply. Assume
9 Iy = (35100

Ans O 1. 7o855 A
<Z10A
X3 1144 A
v 4 165A

Question ID : 6044815214

Q,1 3 Iftwo 5-F capacitors are connected in parallel, then the effective capacitance will be

0
Ans X'I. 2.5 M]:'.'

X 2 25uF

Question ID : 6044815282




X % 20uF

Q'113 The Hall effect is associated with )

Ans 1 thermistors
X 2 solders
X 3 semiconductors
v % conductors

Question ID : 6044815240

Q.1 3 Three coils, each having a resistance of 10 ohms and an impedance of 0.02 H, are connected in star
2 across a 440-V, 50-Hz, three-phase supply, What will be the line current?

Ans X'I. iz K
X2 254A
X3o0A
w4 2151A

Question ID : 6044815322

Q.13 Inathree-phase load. different impedances are connected together in a star or delia fashion.

3

Ans X‘I. six
X 2. zero
W 3 three
X 4 one

Question ID : 6044815192

Q. 1 3 A device capable of detecting voltage, current and the angle between the voltags and the current to provide power readings
directly in watts is known as a‘an:

Ans 1. ammeter
v 2. wattmeter
x 3 power factor meter

X 4 voltmeter

Question ID : 6044815280

Q.13 When two quantities are in quadrature, the phase angle between them will be
5

Ans «1. 0(°
X 2 45°
X 3 1350
X4. 60°

Question ID : 6044815306

Q_'I 3 The two-wattmeter method is used for the of pover In a three-phase balanced svstem, supplied froma 415V,
three-phase, 50 Hez supply. If the reading on both wattmeters is 5.5 KW, calculats the total power consumed,

Ans 1 236 kKW
X 2 20kW
X8 222kW
v 4 17kW

Question ID : 6044815234

Q. 1 3 A three-phase star-connected balanced load of (4-+j3) £2 per phase is connected across a three-phase, 50 Hz, 400 vV AC
supply. Determine current deawn from the supply

Ans  of' 1. 46.188 A
X2 2023A
X3 5054 A

Question ID : 6044815217




X4 50522A

Q1 3 Alternating quantities of frequencies can be represented on the same phasor diagram. )
8 Question ID : 6044815308

Ans o 1. different

X % negative
W 3 same
X % multiple
Q';?’ A thermocouple is used for measurement of Question ID : 6044815228

Ans 5 1. pressure
' 7 temperature
X 3 density
Z % humidity

034 The energy stored in a capacitor is given by Question ID : 6044815274

2. a
Cv
v

3.

p O

X4 v

14 T
°1 Insulators have: Question ID : 6044815259

Ans

71 conducting paths

# % an empty conduction band
« % alarge energy gap

X % a full valence band

Q.14 The capacitance of a capacitor is the distance between the metal plates.

2 Question ID : 6044815273

Ans 1 inversely proportional to

X 2 independent of
~< 8. directly proportional to square of
X 4 directly proportional to

Q.14 Determine the current flowing through the 7-2 and 3-02 resistors, respectively, in the following circuit.

3 Question ID : 6044815327
ﬁﬂ)m % Tohm % 3ohm % Sohm

Ans 1 5 Aand4.8 A

' 7 10.56 A and 24.65 A
23 11.254 A and 9.582 A
X4 2Aand4 A




Q .14 Which of the following statements is applicable for a three-phase AC circuit for a star connection? l

4

Question ID : 6044815205

Ans JT

Phase voltage is square root three times the line voltage and phase current is equal 1o the line current.

XZ.

Phase voltage is equal to the line current and line current is equal to the phase voltage.

x3.

Phase voltage is equal to line voltage and phase current is three times the line current.

x 4

Phase voltage is equal to the line voltage and line current is equal to the phase current.

Q.14 For a star-connected load being measured for power by the two-wattmeter method, if
5 W, =V,Lcos(30— @) and W2 =W, = V. I; cos(30 + @), then the total 3-phase

Question ID : 6044815179

power will be:

Ans X1 3Vul,sin(@)
v 7 3 VI, cos(d)
X > V3Vl ,sin(30 + 0)
X % V3 VI cos(30+ )

Q . 1 4 The wanmeter method is used o measure the power [n a three-phase load. The wattmeter readings are 400 W and —35 W,
What will be the power factor?

Question ID : 6044815319

Ans x‘l. 0.85
X209
v 3 043
X 4 0635

Q'714 Which of the following is NOT a conductive material?

Question ID : 6044815222

Ans x 1. Copper

v 7 Germanium
2 8 Tungsten
# 4 Platinum

Q.14 Which of the statements is correct fora permanent magnetic material?
8

Question ID : 6044815255

Ans ,,1.

The residual induction and the coercive field should be large.
< % The area of hysteresis loop should be small.
x 3.

The initial relative permeability should be small.

x4.

The residual induction and the coercive field should be small.

Q.14 An alternating current is given by i = 100 sin 314t A Tts average value will be

9

Question ID : 6044815303

Ans X1 707 A
v?2637A
X3 100A
X4 50A

Q.15

Question ID : 6044815180




For a delta-connected load being measured for power by the two-wattmeter method, if
W, = Vi I} cos(30 — @) and W2 =W, = V1, cos(30 + @), Then total 3-phase
power is:

Ans 1 V3 V1, cos(®)
X % V3V,1c08(30 + @)
X% 3Vl sin(30+ @)

X V3V 1, sin(30+ @)

Section : General Awareness

Q1 2018 % Rgesa & IR W F FaF TR FT IV
Ans \,1%&%

X * i e

XS. mm

X" afatw A

Question ID : 6044815339

Q.2 #w B= # i s Bew & 9 3 w22 w6 T 3wt @ A e
FSUTERTEEE AT A E |

Ans x‘l. 29343_'%
’,2. 29 3
X3 29 3pTEd
X * 29 faEew

Question ID : 6044815348

Q.3 I T AR T S g & A S st f Spes A g & f T o A
Higrer & ATHT B

Ans x'lm
v Frarer
x3.m
X4 3EH

Question ID : 6044815333

Q.4 2018 7 & 3w st F FER, ANE H FE SR S AR S e (o) # ar 3
Ans 1.

v e

xZ. m

X 3 drfrfoe

X A

Question ID : 6044815344

Q.5 Greauy #iew % Ty Touh S F WU SAS @ ST BT AT 97 & AW add

Ans ?(1%31
v > frEsiy
X s
x4'ﬂéiﬁﬁ

Question ID : 6044815335

Q.6 wgE= g TarEEr FEw (UNEP) T e Fard s W g (100%) i oS qa et g
¥=t F 79 & e & I i

Ans

Question ID : 6044815332




X" wged g

v FRR R g s

X fdiew FEEY FE Ee
x4.

FFITNEET FTSET gaTE 3T (d9TeR)

Q.7 fmfafes # & #ia @ &7 w7 & wafea frar freg w9 & Fwwae F a4 g9
Ans x‘l. m

X7 afeewms

x 3 =

J4. ZFﬁF-I’

Question ID : 6044815330

Q.8 s s it e W T § aw & # g & T w we AR s e
sEEmes R 77 gfe e v B2

Ans \,1Fﬂ'f.'§’T
lear_rl'é
x?"EI_EﬂT:.'RT
X4'§?@3

Question ID : 6044815346

Q.9 ffiee st fomait & fomrw =7 erfer weer o Fae AR ST T o S T ahens e o
AT FATC

Ans X1a’|'d'ri‘ﬁ?fr
v Ewar YR
X ° srewr YibT
X" arar YT

Question ID : 6044815340

Q.10 5= 2018 # form =7 7 U FH EENT WS A FEH TEER HAT?
Ans xl m
X% weE
X o FET
4.
v " omer g2er

Question ID : 6044815341

Q.11 e et wmeemt 3eemes) a2 42 & 790 & 4% ot 5 7 T W g 2018 # feew A
T T WA g )

Ans Jlaéﬁaﬁrmh’_
X% gt 9o
X T i e
X" 7 araer e

Question ID : 6044815337

Q.12 FTEET Tt F T A & ST S 2018 # Aiem R AT deee 07 & AR a9 5 St i
FEET FA A W] 7 A oA

Ans o 1 ReUnite
X 2 Milan

Question ID : 6044815345




X 3 Doondo
X % Bachche Bachao

Q.13 seviemw sitfamsnm st i (i) & av R B et Rae fw g @ §
Ans x1. :Fﬁ?-l'
2.
X © geer
x3. E a
4.
v geeTe

Question ID : 6044815347

Q.14 form 2o & 12 w9 AR 3 ToAw i W F T v & A HEE & e F we o wwew oA
TET A 2018 7§ A

Ans x1mm
«3.5—‘_@?
x4.ﬁ_qm

Question ID : 6044815329

Q.15 wsfex murmmers & =7 wandrer &7 A1 990 e 2018 F TSAT SqsiwaT EEE HERor S
(NCDRC) &7 ey e frar an am?

M o1 e e
X At o= s
X waraafE smieh
v e anE. s

Question ID :6044815334

Q.16 = sreim st Frure o 71w @A et el 5 gaIer & T o e s e

Question ID : 6044815331

famam &1
Ans o IT T
X 2T Hud
X 3T R
X4 NT A"
Q.17 sfs ot =1 Bt & 79 & 30 5 5 BT SFEW & T TETh w0 O o S E a
AT T
Ans xl ﬁi F ﬁ
X * aer Al
?‘:3' = aa%

v afizr oz afta

Question ID : 6044815336

Q.18 sm= & 7 & & o o=ral 2 = 2 ww it =1 o = & v 23310 w0 T A
Ans xl .

XZ. E'r:ltgﬂﬂ'

v darer

x4. :i‘

Question ID : 6044815343




Q.19 F=fafes # @ B FAT F T ¥ AORIACS, T TR TR TR ¢ o B o &

Question ID : 6044815342
Ans o1 TETeT
e

«2. - %
X% Afy amanr
X * fremw Sy

Q20 gy fyem T & Mo o 3y a¢ F aehe FRwT o2 Question ID : 6044815338

Ans x1. 2010
X % 2006
X3 2014
v+ 2002

Section : Reasoning

Q.1 3f: RAGE =1 16-4-5-8 & w9 & for@r 7127 ¥, or DANGLE % 3T 7747 1= 292

Question ID : 6044815352
Ans o 1 2-4-12-10-10-8

X % 6-4-16-5-14-8
X 3 6-25-16-9-9-5
X 4 23-4-13-5-15-8

Q_2 Choose the correct mirror bmage of the following figure from the four options given. The mirrer is represented by the line

Question ID : 6044815368

Ans 1 :
A
<
2.
<
N
3.
<
[l
4.
v
VR

Q3 SR S R e e n Question ID : 6044815359

CAT : KITTEN :: ALLIGATOR :

Ans x 1. KID
v 7 HATCHLING
X % FRY
X % PULLET




Q.4

o s R fin A i R R T A RIS R
s ane Hw AT oAt 12 mogs wee ) R s s A T mE B o 28 momw s e
tm‘lmﬁqg‘wm‘:?r’é‘l

I FEA H (T P O SR aF S T T @ A 3 S e Twen afw e

Question ID : 6044815365

Ans x1. 41 m
X219 m
X322 m
v 29 m
Q.5 Choose the most appropriate option that arranges the following in a logical sequence: Question ID : 6044815366
A. Taluka
B. Earth
C. Village
D. Country
Ans ¢ 1. A. Taluka, C. Village, D. Country, B. Earth
% 2 A. Taluka, D. Country, C. Village, B. Earth
W % C.Village, A. Taluka, D. Country, B. Earth
= ‘T Country, C. Village. B. Earth, A. Taluka
Q.6 In a hovizontal row of 39 students facing the north direction, Bindu is o from the laft end of the row, Thare are 13 students .
between Bindu and Deeksha. What {s the position of Deelisha from the right end of the row? Question ID : 6044815349
Ans xl 718t
2.
vt
3.
K7 ot
4,
K™ st
.7 . . . .
Q.7 Choose the most appropriate option to complete the following series. Question ID : 6044815354
V,R.N, .E.B
Ans x1. K
X2 H
X3P
v
Q.8 i & www it g et R i 1 R e e W w A S @ & AR X e At )
fire 2 it e o Gt # @ W W Sy ek § 5 o Question ID : 6044815353
FA:
I Fo @ s §
Il & o &= #
forerd:
L Fo & w
Il #% ¥ % FR G E
Ans 1. .
v oo arfmsey | AT & I FeEea g
2. G
X e faswy 1| F&TT B
3. :
K Faer ooy | gHEIa g
4. ; g ~
X2t ey | o FEgea £
9 @ ik s o s W e o
09 Bt R g i R i Question ID : 6044815355
32 gt & v WA #, Woiw waiad Bhew 6 Neewd o @ @6t # @ S0 3 6 UE O S
FAT #| 26 W BhEe Bee S0 § 3T 10 # Weed g & Ay § e
et wileT Bhew 3T R g @ wea £7
Ans

X115




<210
v 313
X*8

Q10 zfr AN = 39 3T NAY = 41, ar CANDY & AT & 2
Ans xl 107

X111

X3 90

v 88

Question ID : 6044815351

Q.17 st oy &5 o o v sores 0 g0 st B, g 0 O & o & v AT A 4K E A w o Ey
2 = st w0 fo 2

Ans ¢1qﬁ-'l'
X > &
x&ﬁFIT
?(4'311'5‘.'

Question ID : 6044815358

Q_'I 2 Kareem is standing in a garden facing North. He walks 16 m to his right. Then, he tums o his left and walks 19 m. Then, he
turns to his right and walks 3 m. Finally. he turns to his right and walks 383 m.

In what direction is his final positon with respect to his indtial position”

Ans 3 1. gouth-west
X 2 North-west
v 3 South-east
X 4 West

Question ID : 6044815356

Q.13 & 7 sty w2 3w T RS TET S T T w5 AW E

32 Nl % U WE W, Grdw sOiwd Thes AT Mes 5= @ @el 7 W w6 0 W T W S
I | 26 =T S g wed £ AT 19 i el oee oA & s E

=7 7EE A, B # g dst § 3 v g S £

Ans x1. 22
v 19
X3 37
X417

Question ID : 6044815357

Q.14 Choose the most appropriate option to complete the following series.

8,64,216, 1000, 1728

Ans x1. 730
X 2 343
X 3 225
v 4 512

Question ID : 6044815367

Q.15 #ra v wem sir (1) 37 (2) a7 @ o 2 T Re o ¥ e T dw E) T AT S R wA A
FeR &R & fAT Ram mmm der s §oar wE

T T F = T R
U

(1) 32M + 147 = 510
(2) 384M + 168T = 6120

Ans xl

FUT (2) FFT WIT F I I3 F Bw w@ ¥ A w7y () 35 9w a4 §

XZ.

AT FUT THETY T T a7 & & AU qatg ¥, A wue ke g w6 E

Question ID : 6044815362




J&

FoeT (1) 3R (2) S vHATT T #T S99 & & [@T g9 H84 2
x4.

FUT (1) e ToF F IoW &9 F w7 ¥, A Fue (2) s 9IT A6 R

Q.16 o + === & ;i &, = B @i § e T HR A o S e S
w fow T =EF = oA A

Question ID : 6044815364

116 %58+ 30— 24+ 46

Ans x1. 108
X 72126
v 116
X4 138

Q.17 = zitrm '+ 3y e 31 swmamy fn AT ¥, @ RwfEs # ¥ A W e wlo i

Question ID : 6044815363

FAIOT A 90+ 6+4—-20%12=52
AR B 24 +4x10-4+4=36
FEETOT C 34x12+64+10-6=28
FAETT D 42+ 14 +6X4—-12-30

Ans o m#reRToT A
X > gaeor B
X ° gafeor D
X " gafreor C

Q.18 = o= 3w 3fiv g 7% Rew a1 1 Rew o Fuw F weT w6, 09 & S8 AT AR AT Seat @ e
# it e o w # ® w9 aF wemp | e

Question ID : 6044815360

T

T RS FT & O & AL ® 4 Tedt 7 e e & T Ay s wih i e F
e i A aws & are?

L

I &, o= & wfaaa henst & &0 3% 3= * BT s f

Il. w8, sewwe it 49 & Fgew # w=E & Awtaw A9 WO S e g

Ans X1Eﬂ?ﬁa¢ X ?l
%~ % | A g
X aaras |k a & aHil A ¥

4
v Fad aF |l ASEd g

Q.19 = v ww 3t (1) 3% (2) 0 @i 7T S T R o E B T b B AT S BR wA A
FeR &R & AT Bam mm der ores oA

Question ID : 6044815361

I K F 0% 5T AT =T 2T

U
(1) P =7 20% 60 ¥
(2) 'K'=T 30% P & 120 Mo B

Ans x‘l.

FUT (2) e WoF T IoW &3 F BT s §, AT FEa (1) 3R 9IS 6O
xz.
Fa (1) 3R (2) S TFAT TIS F TG & F BT qag 247 2

JSA

STt T TRETY Wi FT 3eeR i ¥ v satg ¥ ot wue i gata a6 2

x4.

FUT (1) e ToF F IoW &9 F w7 ¥, A Fue (2) s 9IT A6 R

Q.20

Question ID : 6044815350




A g we S wo et T e ) R o el # owew A 69 @ F e Al e At F
firem g 3y fow T frmt & ¥ FiF B et wEEeE o I

T
I wef S PR
Il it Foramd =1 &)

forswed:
I 5o fwd & ¥
Il. 7t s ow £

Il F= ¥ 4= 8
. wolr T 9

At o s | sk I aFEE
X e T Il ahETa ¥
X > o rey | adwea E
X * forewe 1l 3R IV FEE §

Section : General Hindi

O Sy F @ R gAeT S T H gar 27 Question ID : 6044815376
Ans X1 orEE

V' 2 9ot

X3

X w
O o & ¥ FAT e - Question ID : 6044815372
Ans o 1. ore

X% S

X 7g

v EE
a2 ‘HHRIOT J 398 §- Question ID : 6044815371
Ans % 1. 37

v g

X3 7

X 4 o
4y ¥ am Taferdl & g S @ ol o g Question ID : 6044815378
Ans o 1. A BT

X > arems @

P L C—

X" e B
P o F A ROwr o & Question ID ;6044815374
Ans ol o

X2




v
X" g

e ¥ T e
Ans ?<'1. ?ﬂETT

XZ'EIHW

v ¥

X 4 arer

Question ID : 6044815373

a7 s & s &1 e & e &
Ans i‘lm

X7 e

X 8 3T
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